NAVOD NA MONTAZ
AHG-616

OOOOO

1|x2 2|x16 3Ix3 4lx6 51x3 6|x4 7IX3 X
M8*275 M8*30 M6*45 M38 M38*116.5 M8*1.5 M6*60 M8*115
o [ xa | 10| xa [ 11 ]x 12 x4 [ 13 |x6| 14 [ xa]| 5] x
=
| ® |TH| S & | N
M6*1.5 M8 M4.2*20

strana 1/4




M38*116.5

M38

M6*45

M6*1.5

M8*30

X

M6*60

N>

X X X X X
[ Y I ONNNNNN y @ @

M8*275

M38

)

ONNNNNNY

M8*30

strana 2/4



M38*116.5 [ M8*115

M8

M38

M6*45

M6*1.5

X X X X X
UNANNNY f =) & /

M8*30

M6*60

M8*1.5

M38

M8*30

strana 3/4



strana 4/4




